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1. Let u € R? be such that [u| = 1. Define the Radon-transform P, f as follows:
(Puf)) = [ F(u+ Uts)ds,
Rd—1

where UL is a d x (d — 1) matrix with columns that form an orthonormal basis for the
subspace of vectors in R? orthogonal to u. Show that if f € L'(R?), then P,f € L'(R)
and

Puf(w) = f(wu).

2. Let H be a separable Hilbert space, let (f,)22; be a frame in H, and let T'f =
o ([, fn) fn- Assuming that it has been shown that 7" is a bounded selfadjoint operator
with bounded inverse, show that (77!f,)2, is a frame as well.

3. Let H be a separable Hilbert space and let (f,)°2, be a frame in H. Does it follow
that

supl| | < o0
n>1



